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1

Introduction

This contribution presents text points to be added to chapter 7 "Alternative 2: One Tunnel Approach" in the draft TR 23.873.

2 Discussion

The following amendments are targeted to be appended to the end of the chapter 7.1.1 of the draft TR 23.873 v1.0.0 :

<…text left unquoted from here…>

The amount of roaming mobile user traffic is according to the U.K. Office of Telecommunications (Oftel) report November 2000 in U.K. 206 million call minutes roaming traffic coming inland of total 8388 million call minutes, i.e 2.5%, at the end of 1Q/2000. In Finland the figure for roaming traffic has been under 1%. And in an other country we can have a bigger percentage. Anyhow, in an average country the clear majority of the traffic is made so that the "point of access" is in the same country as the caller.
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3. Proposal

It is proposed to include the above amendments to the draft TR 23.873.
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